00000 0000 00000 (Ne7)ODOODODO1

gooooIlicooooonn

000000000000 0000 (No.7)ODOOO

1. 0000000000
,gDDDDDDDDDDDDDDDDDDDDDDDDDD

goooogooooooon —

0

—22% + 82 — 6
1) lim —— =" 0QoO000000 — 0000
) =3 0
—22% + 81 — 6 (=222 + 8z — 6)’ —4r+8 —-4-3+48 -4
DDDI. —:1. :1. = :—:—]_D
P08 22— 927 —3  aos (a2—2z-3) ao3 20-2  2.3-2 4 0
i 0
@) lim —2% _ QpopooooO00 — 0000
z—0 e? —e T 0
. o,
000 im <22 i (sinz) _ cos T ~lim cos T
20 e —e~% 0 (ez_e—z)/ 7—0 eﬁ_e—m,(_x)/ 2—0 em_e—x,(_l)
cosT cos 0 1 1
D:l. = = :—D
mli%e*“re*w O+ed 141 2 F
1
3) lim 2 ppoooooo 20000
3
z—o0 I 00
1
. logx (logx)’ . - . 1
DDDzILHolo 3 :z—>oo (:)33)’ :xILHolo 33:2::51320 3;];3:0DD
Tan™* 0
) lim -2 Yopgpooooo0 — 0000
x—0 x 0
1
Tan Tan ' 2)’ 2 1 1
000l T gy T @) e L L g
x—0 x x—0 (,’1})/ z—0 1 z—0 1 —+ $2 1 + 0

(5) lim 2% " 00000000 00-0000 = 0 —>0000000
(0.}

Tr— 00

3 3/ 2
. _ . . . x . 3z
000 lim 2% ®=lim 2% —=1im == lim ( ):hm
T—00 T—00 et z—oo ¥ zx—00 em)l z—o0 er

= lim
T—00 (er !

/
Gx)/ :g}i_{& e%: 00

O =1
atlnolo e:c)
(6) lirEOmQIOngDDDDDDD 0-(~00) 000 =0 —0000000
T— 0.0}
1 1

log log = (log x)’
000 lim #2logz= li — kL _ o r T
oo™ BT, 1 vot0 22 a0 (x=2) 2o t0 —27-2-1 ato 273
2
x




0ooogIcoogooog 00000 0000 00000 (NeyOQOOOD2

2. 0000000000 PODODO 2000¢t000000 z=acoswtla,w0000000O000O0O0O0O
gooooooo

(1) tODO0O0O POOOYWODOOO «OOOODO

O00x =acoswt

d
000 v= d—f = (acoswt) = a(—sinwt) - (wt) = —asinwt - w = —awsinwt O
dU . 1 7 2
000 a= i (—awsinwt) = —aw - coswt - (wt)' = —aw coswt - w = —aw” coswt 0

(2) r=5000000000000
O00a=—w? acoswt = —w3x

DDD(@ — —w?.5=—5w20,
r=>5

3. 00000 POOOOOO0DOCOt0002000c=—-92+2400000000000
ooo
(1) t0000 POOO w0000 «0000D
000z =1t —9t% + 24t
d
DD[]v:2;:(§—9#+2uy:3#—9-%+241:3ﬂ—1&+24mu
d
D[MJa:—%:(m?—wﬁ+myz3-%—1&1+0=6w—wmm
(2) 0 POODODOOOO0DOOOOOODOOONDOO0NNDON0N000ND 0000000
O00v=3t2—18t+24=3(t> -6t +8) =3(t —2)(t — 4)
D00 v=0000003(-2)(t-4)=0000¢t=2,t=4

goooooooon

t
d

dey 1o — |0+
x| 7200\ ]16] 7

obooooOobO0 pPO0OO0OODOODOOOODOODOOOOOO Oq

00000000 PO 000

ooo @ﬁ =93 9.22124.2=8-36+48=200,
t=2

00000000 PO 2000

0oo @) — 43— 9.42 1244 =64 144+ 96 =160
t=4
Doooo

oboooooooooooobo v:%:ODDDD
gboobOobooobo0ooboobooooooonon



